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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.74 59.09 | =S | 000 ~ 4.74 | 1.79 9.568 st 1.00 | 6.00 ~ 5.00 59.09 | ThL4 | 5.00 ~ 65.00| 1.79 9.68
2 100kN/m%z#8z5 | 1.00 | 000 ~ 013 101.92 |3mz#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 11.566 ~ 11.93| 10192 |3m%E#Z5 - ~ — — —
s 1.00 | 013 ~ 792 100.00 | #nst | 0.00 ~ 792 | 243 12.99 st 1.00 | 6.00 ~ 1156 100.00 | =nst | 6.00 ~ 11.93| 2.43 12.99
3 100kN/m#E#82% | 1.00 000 ~ 0.11 101.57 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10.70 ~ 1098| 101.57 |3m%E#Z5 - ~ — — —
s 1.00 011 ~ 789 100.00 | #nlst | 000 ~ 7.89| 2.28 12.22 st 1.00 | .00 ~ 1070 100.00 | =nst | 6.00 ~ 1098| 2.28 1222
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 478 59.51 | #nRS | 000 ~ 0.00| 1.72 921 st 1.00 | 6.00 ~ 5.00 59.51 | =hL4 | 6.00 ~ 6.00| 1.72 921
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 155 2299 | EnLS |ooo ~ 155|272 14.58 st 1.00 | 6.00 ~ 5.00 2299 | ThS | 6.00 ~ 500|272 14.58
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 000 ~ 1.75 25.14 | EnLS | ooo ~ 1.75| 2.66 14.23 st 1.00 | 5.00 ~ 5.00 2514 | ThSY | 6.00 ~ 5.00| 2.66 14.23
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
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zhst ~ FhLst ~ Fhst ~ zhLst ~
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zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
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zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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